MATH 285: Stochastic Processes

Today: Branching processes

Homework 4 is due on Friday, February 11, 11:59 PM
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Remack & Pi=1 then B [Xy=11=1.

Coro\\a.rj 1S .3 Smf?ose pi#l. Then q=| i the process

i5 cotical or subcri+{ca\l and q<| f Ahe process s

su_?e_(‘c_(‘(\"'icok.{.

Proot  Subertical: discussed  before .

Su.?arc,rﬁtca /¢>\ Denote  £(s)= w(s)-s. Then
YOE v(l)-\«/u >0 N
flo)=po | F(1)=Y(1)-1=0 \ [,

3 s'ecol) st f(s) ¢co © U

£ is continuous on [0 1] = 3 se (05') st. fls)<0o
e(s)-5=0



GovHon [ \f\JQ—J"SDV\ Br‘a_hch\'hﬂ Pmcess

Critical: /JL:I \ /
=l = Po#\ ( otherwise Z LPv =o ,/,
A prZipeze) o

/*zl > Po?O (o’ﬁ\a.ruo;SQ ‘LZ:‘MP\L=‘ = P\=l)

l

F = > K 2wt = 5
P ‘if >0 (o'ﬂnr Se f-zamflzo.xg“‘?\:?l“)

¢ ()=
if te(o)  dhen  Y(€) <

KF'(t)r—E K'LK-‘PK = P -+ Z K{K-‘?v_ < Fl+ E V-FL = |

Toke any se (o) Ste(’c)ét POY=Y(5) = I-9(s) £ gdt

= *f(sbs for all se (o)

I-S



